Seat No. Enrolment No.:

Gujarat Technological University
Diploma Engineering C to D Bridge Course Examination

Subject Code:C300006 Date: 01 -06 -2016
Subject Name: Engineering Chemistry (Group-2}
Time: 10.30 AM TO 12:00 PM Total Marks: 70
Instructions:
1.  Attempt all questions.
2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic,
No. | Question Text and Option. Y& el [Ascl.
The structure of NaCl is
1. |A |BCC B. | FCC
C. | HCP D. | None
NaCl of 6lt120L 8.
1. |A. |BCC B. | FCC
Which type of bond formation take place in diamond?
2. | A. | lonic bond B. | Hydrogen bond
C. | Metallic bond D. | Covalent bond
(3L sl Ysirell it wuda slat 82
. | A | aalels ot B. | a5 glaset citt
C | aleus oiv D. | e dallws o
The bond formed by transfer of electron is
3. | A. | Covalent B. | Mettalic
C. | lonic D. | Hydrogen
A sglot Hicull eotell vity 8.
3. | A | e dellws ol B. | wilds ol
C. | s ot D. | sesgloret oitd
Which of following catalyst is used in preparation of NH3?
4. | A. |Fe B. | Ni
C. |Cu D. | Pt
o{lAstmtell sl Gleus Allo{lausll letlazil auna B2
¥ [A [Fe B. [Ni
. | Cu D. | Pt
Which of following catalyst is used in preparation of vegetable Ghee?
5. |A. | AICI B. | SiO:
C. |Ni D. | MnO;
o{lAstimitell sl Gleus astrucl dloll wotazit auzia B2
L TA TAICK B. | SiO;
C. |Ni D. | MnO;
6 MnQO; is type of catalyst.
" | A | Auto catalyst | B. | Catalytic inhibitior
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C. | Positive catalyst

| D.

| Negative catalyst

MnO; ysiell GRus B.
s. |A |l GRus B. | GRus uaAus
C. | wot GRus D. 1 e GRus
The strength of cement concrete is due to bond.
7. | A. | lonic bond B. | Covalent bond
C. | Mettalic bond D. | Hydrogen bond
RN slEecl Hwojcus oitusl wedl 8.
9. | A | urllbls iy B. | ue wallers oy
Co | uls vy D. | sl gloet ot
Zigler-Natta catalyst is used in the manufacture of
8 |A. |PV.LC. B. | Polyethylene
C. | Nylon D. | Polypropylene
MorcdR-aleL GRus oll GeulEotHl duRlA 8,
C. | etiaclst D | Qelyidlellot
pH of pure water at 25°C is
9. [A ]2 B. |9
C. |14 D. |7
WA dlural gt wellell pH sl ®.
¢. |A |2 B. ¢
C.|ay 9
pH of 0.01M HCI solution is
10. [A 12 B. [7
C. [2 D. [8
0.01 M HCI ol slaets{l pH 8.
0. | A | 4R B. |
C. |» D. [,
Electrode potential of standard hydrogen electrode at 25°C is Volt.
11. [A. [00 B. [15
C. [25 D. |3
WA dlurtal yrielld st glaset yaoll WERaa ___ dlee sla .
e, | A | 0.0 B. 1qu
C lau D. |3
The value of Kw at 25°C is
12. [A. J107 B. [107*
C. |10 D. [107
WA AUHIA Kw of Hel 8la .
R A T107 B. [10™
C. [10T D. | 107
pH can be defined as the negative logarithm of ion concentration.
13. |A. [H;0* B. [OH
C. [Na* D. [K*
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pH ol lotofl Ulgelloll BB AYolELs wzW e2lcHl wd 8.
3. [A. [H0° B. |OH

C. | Na' D. | K*

Solution which resist changes in pH are called
14. | A. | Acidic solution B. | Basic solution

C. | Buffer solution D. | Neutral solution

% alclll pH HL ¥RsRall ulds 52 dal alolll s&cllal.
¥, |A | ARBs alawl B. | Qofls alawl

C. | ag? alael D. | e alael

Which metals reactivity is least?
15. [A. [Ni B. |Cu

C. [Fe D. |Au

58 tldell uBaAA Al 20 B2
WM A TN B. [Cu

C. |Fe D. | Au

Electrochemical cell converts chemical energy into
16. | A. | Electrical energy B. | Mechanical energy

C. | Kinetic energy D. | All of the above

lasrua@ls st AABls Godef HL 3Uicl? 52 8.
1s. [ A | [Qgd Gad B. | ails Gad

C. | ol Ged GURell Gl

1 Faraday = Coulomb.
17. [A. [ 96400 B. [96300

C. [ 96500 D. | 96000

q %23 = seiol
19. [A. [ 96400 B. [96300

C. [ 96500 D. | 96000

Strong electrolyte is having degree of ionization than weak electrolyte.
18. | A. | Less B. | More

C. | Equal D. | None

yola [@Qee [Qeusatell vauFseRia [on [@Qgd [Qeust sl glaL B.
L. el B. | qud

C | qul D. | 98 ue o

In the electroplating the articles which require to be coated is connected at
19. | A. | Cathode B. | Anode

. | Both D. | None

SAsgARIUL % dxg UR alol uslalelsll slat dal W glsaH wd &
e, | A | Bals B. | Aalls

C. |l D. | 9& ugl o3

HCI is type of electrolyte.
20. | A. | Weak B. [ Intermediate

C. | Strong D. | Non-elctrolyte

HCI ysiell Qg [Qeus .
R0.

A. | [alolm B. | yeay
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C. | yaa D. | [@Qgd wuQeus
Rusting of iron is process.

21. | A. | Fast B. | Slow
C. | Medium D. | None
dluisq] salg A ylzau 8.

4. [ A | sl B. el
Co | uean D1 98 wgt o3
Corrosion of metal is

22. | A. | Oxidation B. | Reduction
C. | Electrolysis D. | Hydrolysis
Uqlle] auReL Aed

2. [ A |53 Aet B. | dlssatet
C. | @Qgd Qeussst o0 (Aeusset
Which type of corrosion occur in boiler?

23. | A. | Uniform B. | Concentration cell corrosion
C. | Pitting D. | Crevice
WAL 5L YslRa] &1L slall HA B?

3. [ A | AsuRy B | gl sl auRel
C. | dlBat Beussu
Galvanizing means protective coating of on Iron.

24. [A. JAl B. | Cu
C. | Sn D. |Zn
dlcdattSAloL Aed clvis Gur of ¥R Uslad,

. A JAl B. [Cu
C. | Sn D. |Zn
Which of the following factors are responsible for corrosion?

25. | A. | Moisture B. | Temperature
C. | pH of solution D. | All of the above
o{l Astiitell sl WRolol &6l HIZ SAUGELR &2

Y. dlog B. | cdruset
C. | atagell pH D. | Guaell sl %
To reduce corrosion welding should be avoided at places.

2. [A. [L B. [T
C. |U D. | All of the above
IR0l uaLsal Hi2 ULl el Gur Aol aLad,

?s. A [L B. [T
C. U D. | Gure et %
Melting point of Zinc is Fe.

27. | A. | More than B. | Less than
C. | Equal to D. | None.

Alse] ocdotolls cdluis sl 8.

9. | A | auld B. g
C. | ury S8 ugl o3

28. | Steel is the alloy of
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A, | Ni B. | Cr
C. |BothA&B D. | None
Wl ol (3L i B.
¢. [A. [N B. [Cr
C. |ea D. | 81 ual o1
1BTU = Calorie.
29. [A. [252 B. [300
200 D. | 400
1 BT.U.= 3a3l.
RC. [A. [252 B. [300
C. [200 D. | 400
Which coal contain maximum percentage of carbon?
30. | A. | Lignite coal B. | Bituminious coal
C. | Peat coal D. | Aathracite coal
sl Sl stoloteg yaueL Wl aw sla 82
30. | A | [@>ude slaal B. | @gMetu slall
C. e D. | A-guse Sl
Which instrument is used to measure the calorific value of solid& liquid fuel?
31. | A. | Bomb calorimeter B. | Thermometer
C. | Wattmeter D. | Ammeter
dol Aol yalldl slacRell 3clilBGs dey Hiual 12 %) Aot duRld B?
39, | A | oot 3clldl{le? B. |yl {lez
C. | Qedlez D. | Qafle?
In India lignite coal occurs in
32. | A. | Assam B. | Delhi
C. | Punjab D. | Maharashtra
ARl [@Axuse slal Hi doll 2ua 8.
32, | A | B. | Redl
C. | ot EIENY
Which major gas is found in L.P.G.?
33. | A. | Methane B. | Butane
C. | Propane D. | Ethane
LP.G. Hl Jul sl a3 wdel lat 87
33. AbEl B. | 6qp2et
C. | Qet D. | 53t
Which process is used for the refining of petroleum?
34. | A. | Fractional distillation B. | Filteration
C. | Distillation D. | Crystallisation
Wlcllanot geellseu 56 utudl auga 82
3¥. | A | Qewdlla @zeieet B. | sumel
C. | Peigot D. 1l dls2a
Chemical formula of ethyl alcohol(ethanol) is .
35. | A. | CH30H B. | CsH;OH
C C.HsOH D. | CsHsOH
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Saollcto] AMAYS Yot 8.
3. [A. [CH;OH B. | CH:0H
C. | C:HsOH D. CsHsOH
Major constitute of CN.G. is .
36. | A. | Methane B. | Propane
C. | Butane D. | Ethane
C.N.G. <ol Yyl u2s 8.
36. pbEl B. | Qe
C. | 632al D. | $dat
Which is the first stage of the coalification of wood?
37. | A. | Lignite B. | Peat
C. | Bituminous coal D. | Anthracite
ctssiuell sldxtoll 3uicdell yaur doissl sl 892
30. | A | @wude B. e
C | QMo sleA D. | Qeguse
From the following which is an example for secondary fuel?
38. | A. | Crude oil B. | Wood
C. | Kerosene D. | Natural gas
ol Astimiell GBS sl = B2
3¢. | A | 55 S B. | auss
C. | 3Axllet D. | seadl cug
Which of the following substance is mixed with L.P.G.to get odour to it?
39. | A. | Propane B. | Butane
C. | Methane D. | Mercaptans
ofl YottHiell sl ez LP.G.HL v YsiRell cudt 12 AL seuul wd 82
3¢. Yot B. | o3
C | B8t D | ¥eet
Mixture of petrol and alcohol is known as
40. | A. | Power alcohol B. | Gasoline
C. | Methanol D. | All of the above
Wglat wal vucslelde] MAsel 35 vlamia 8.
¥0. | A | wer weslald B | el
C. | MasAet GURell Wl %
Select solid lubricant in below.,
41. | A. | Graphite B. | Grease
C. | Palm oil D. | None
ol Aotimtefl tot @65 UAE 53,
¥4 | A | Jaise B 19l
C | wn aad sl vl @
Viscosity of lubricating oil is determined by )
42, | A. | pH meter B. | Pensky martin apparatus
C. | Red wood viscometer D. | None
¥R, | wlesell Reloudl GLRL HIUaLHL 21 B,
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A. | pH Hle? B. | Urdl-uélat Gus?el

C. | 2sgs [@Qesldle? 818 uel o@

The unit of viscosity is .
43. | A. | Newton B. | Poise

C. | gm /litre D. | All of the above

Roloticllell BsH 8.
¥3. | A | oyeet B. | Qs

C. | amselle? D. | Gurell vl o

The temperature at which oil becomes cloudy in appearance is called
44. | A. | Flash point B. | Fire point

C. | Cloud point D. | None

% clUHlel Wesall Bullal cllem el Tulldl d dluHleisl 5& 8.
¥¥. | A | esst g B. 1o g

C. | cuem [@g D. | 18 uel ol

is used to measure the Flash-Point & Fire —Point of Lubticants.

45. | A. | Red wood viscometer B. | Watt-meter

C. | pH meter D. | Pensky martin apparatus

Wl6sa] eLssillelg el vl Hival 1R qugd 8.
YW [ A | esgs [Qrsller B. | dledle?

C. | pH ez D. | Qagl-audlet Guszel

Lubricants are used to reduce the Resistance between two moving surfaces.
46. | A. | Thermal B. | Electrical

C. | Rotational D. | Frictional

wlesoll Guallol ol uRscl AWl c2latl Rl Yalsal 12w B.
¥s. [A | Gu{la B. | [aglda

C. | ufla D. |y

The temperature at which the liquid lubricant no longer flow is called
47. | A. | Pour point B. | Cloud point

C. | Flash point D. | Fire point

% clluHlol yelldl wlesell 2l Al Al U8l s d diudietsl 56 8.
¥9. [ A | Reu (elg B. |aen (g

C. | esst ©@g D. | ol g

Which type of lubricant is used in heavy machineries?
48. | A. | Solid B. | Semi-solid

C. | Both D. | None

AR ol uRlcledl Hllollil sl YslRe] wes cuRlA B2
¥¢. | A | gt B | ud-uot

C. sl D. ] 818 ug «1&

Monomer of P.V.C. is
49. | A. | Vinyl Chloride B. | Vinyl cyanide

C. | Ethylene D. | Propylene
¥e. [P.V.CHL ysell HlelldR sla B.
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A | RQeusd sclASS B. | QoS wSUSS
C. | sallcdlot Ylellot
Ethylene is polymer.

50. | A. | Linear B. Branched
C. | Cross-linked D. | None
gSellcllot Yslell HlellHR B,

wo. | A [ 2ulla B. | gula
C | uidR o D. | 818 ugl o
Monomer of polyethylene is .

51. | A. | Ethane B. | Propane
C. | Propylene D. | Ethylene
Yl dlelletnl ysRell HlellH sla B,

e, | A | St B. | QQa
C. | Qlellst D. | gallellot
PV.C. is plastic.

52. | A. | Thermosetting B. | Thermo plastic
C. |BothA&B D. | None
P.V.C. YsRe] wils B.

. | A | aql@dla Al weldls
C o 88 UL ol
What is monomer of Teflon?

53. | A. | Propylene B. | Phenol
C. | Tetrafluoro ethylene D. | Ethylene
2scllotHl U Usiell HlellH sl B2

us. | A | Yot B. | Bellet
C. | 2215l sallcllot D. | gallcllst
Phenol Formaldehyde polymer is also known as

54. | A. | Orlon B. PV.C,

C. | Nylon D. | Bakelite
(ollet-slHicslelss Wellu: SEERTEENGIOR: )

wy, | A | ARellet B. Ll
C | stadlot D. | Q3cusse

is used for vulcanization of rubber.

55. [A. [Si B. | Cr
C. |S D. |Fe
01201l dACHelleS BaotHL duld 8.

. A Tsi B. [Cr
C. |S D. | Fe
Monomer of natural rubber is )

56. | A. | Ethylene B. | Vinyl chloride
C. | Propylene D. | Isoprene
el 01R_UL HlellHR udal sla d.

us.

A | gallellet B. | QeutSed sclASS

8/11




C. | Qllellet D. | augalylet
Select natural polymer in below.
57. | A. [ Cotton B. [PV.C
C. |BothA&B D. | None
o{lAetimiall sl WellHr urle s2A
wa. | A |3 B L.l
C | da D. 188 ual o
Which type of polymer is used in the manufacture of sweater?
58. | A. | Bakelite B. | Orlon
C. |PV.C. D. | Teflon
2ol GeuleatHl sl YsiRe] Wellir aurla 87
we. | A | ddause B. | alrellot
Co | el D. | 2scllot
From the following which is an example for elastomer?
59. | A. | Buna-S B. | Polyester
C. | Bakelite D. | Melamine
ol Aot efl 2012q] GELERQ %] B?
ue. | A | getl-s B QellAes
C | d¥eusse LSt
The commercial name of epoxy resin is .
60. | A. | Thermocol B. [ Fevicol
C. | Araldite D. | Rubber
gulsll 2ote] carwidl ount 8.
so. |4 | adlsla B | 3asla
C. | Azctsise D. |20
From the following which is the example for addition polymerization?
61. | A. | Bakelite B. | Polyethylene
C. | Polyester D. | Melamine Formaldehyde
ol Aetiruell otellet wgcllszale] Gelewl 53 B2
sq. [ A | ddause B 1 Qells ellellet
C | el D. | Qeuusset gilctlelss
Which type of polymer is used in the manufacture of tyre?
62. | A. | Thermoplastic B. | Thermosetting plastic
C. | Rubber D. | Epoxy Resin
2latell Geuleattl sl YslRe] WelHR auria 82
52, uleRdls B | [l wéls
C ]2z D. 1 glell ¥oflet
In Lead storage battery is used as a electrolyte.
63. [A. [HCI B. | HNO;
. | HaSO« D. | NaOH
As Aoues sl [Qgc-[Qeusal 313 o alalll Uy 8.
$3. [A. THC B. | HNO;
C. | H:S04 D. | NaOH
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The cell potential of dry cell is

64. | A. [4.0 Volt B. | 1.5 Volt
C. [3.0Vvolt D. |6.0Volt
Y5t steetl sl WERlae sl 8.

5Y. 4.0 dlce B. |15 dlee
C. |30 de 6.0 dlee
In the dry cell zinc container acts as )

65. | A. | Anode B. [ Cathode

. |Bath A &B D. | None
ysislal ¥se] wat 3% ad 8.

su. | A | Aells B. | %als
C. ol D. | 9& ual o3

is used in torch.

66. | A. | Fuelcell B. | Drycell
C. | Lead storage cell D. | All of the above
2lAui ol Guallol alaL B.

5s. | A | el sl B. | ysl sln
C. | &s- dowss sln D. | Gurell wtl o
Which is an example for Primary cell?

67. | A. | Ni-Cd cell B. | Lead storage cell
C. | Fuelcell D. | Drycell
ylauls slee] Gelgrel s B2

6. | A | Rsat-3sHlan sin B. | As-daues slw
C | aade sy ysl sly
Which is the cathode part of dry cell?

68. |A. |Zn B. | Graphite
C. [MnO; D. | NHCI
Ysistuul 3als ddld g ad B2
C. Mn02 D. NH4C1
The cell which converts solar energy into electrical energy is called

69. | A. | Drycell B. | Fuel cell
C. | Solar cell D. | none

WR-Gle] (gt Gaiui 3ulclr sRcll SlMal 58 B.
se. | A | ysl sl B. | stade sln
C. | e Sln D. | 81 ual o
Which type of material is used in solar cell?

70. | A. | Conductor B. | Semi-conductor
C. | Insulator D. | None
AR sl Ul Ysie] wdldlad aur 82

90. S B. | utl-cues
Co | wauss D | 518 uel o
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